Exercise 1:  Write the contents of an IC
Unreachable packet with code 0 (Network Unreachable)

ture 14 - ICMP

ination

including the IP header. Specify the values of any fields whose
value are not defined by this question.

|P\\€ader

| CMP
&\eandear

15 = L°

P (57

TL
cm !
| v } CrsoM\

o1d ool
I;gp‘non 3

e

43

ST

0 ! 2 3

01234667890123466789012345678901
B L e e e T L e T R T T T T T L S PR PR NP Y
I\'afionl i% Ty of S@ylce] Total Lyt &
LAk i e B S Al A B R el e R Al S e R el e e Sl ol S A ol S R R o o ]

| Watitiation 7 [Fagsl  Frpat gt |

LR Al e R e e e el e R R el e e el el e e e e R el Al e e el e R A ol 8 ]

O.
| a2 | Pl | W 5t
0-.0'0-0-'-0'0-0-0'0-0-0-0'0-0-0'0'0'0-0'0-0-0-0-0-0-0-‘-0-0-0'0-0 ZO
| e Mgy VeV |
0’0'0'0'0'0'0'0'0'0'0'0'0'0'0'0'0'0%0'0“0;}2’0’0'0’0“0’0'0'0
| Dostination Addris 0% |
L e e R e e R e e R B Bl e e el el e R e e B SR L B O B B o ]
| Options | PaMing |
LR R e R e el e R e e R e e e R A e R ol e R SR I S B O B R B oL B J

0 ! 2 3

012346678001234667800123456678901

o-o-o-o-ovq-c-o-0-¢-o-o-0-o-o-o-o-c-o-o-&-o-q-&-oo-o-o-o-{m
w3 w Q OMdee |
Bl o I I ot o T ST S S S S S P Sp S SR SR S Y
| X Kot X W

Rl e R e el e e el e R e el e R Sl Sl e e el e R Sl Sl e b ol e A R ol e ]

| Intarset Beadr ¢ 64 bits of Original Data Datagran 20
R el e B e el e i el e e e el e e el Sl e e el e A Sl ol e A ol S B A o o

4
M



Exercise 2: The host H1 in the network shown in the diagram
below issues the command ‘traceroute H3". Draw a table
showing the ICMP messages transmitted and received by H1.
Include five columns for source address, destination address,
ICMP type, ICMP code and TTL value. Assume a single ping is
used to discover each hop.
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